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Why Study International Monetary Issues?

• International issues have always been an important 
part of monetary economics
– Gold standard
– Bretton Woods system, post WWII

• And many international monetary problems loom 
today
– ECB and Euro zone mess
– Origins of 2008 financial crisis
– Emerging market complaints about US

• Financial markets more connected than ever
• The models and theories are very interesting

– Though quite complex



Simple “no-arbitrage”
between domestic
and foreign currency
denominated assets
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With economic intuition based on simple models, 
consider monetary shocks in a two country model

-- Start with no-arbitrage conditions
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Purchasing power
parity or simple 
no arbitrage 
between
domestic and 
foreign goods



ttttt eeEii  1
*

)( **
1

**
ttttt ppEir  

)( 1 ttttt ppEir  

*
ttt pep 

ttt epp *

tttt yipm  

******
tttt yipm  

tw  )1(

***)1( tw 

  
3

0
25.

i itt xw

 
3

0
** 25.

i itt xw



1/ (1/

(1/ (1/



e  = if  + e(1)  - i

y  =  - b(1)  * r  + b(2)  * (e  + pf - p)  + b(3)  * yf

x  = .25  * (w  + w(1)  + w(2)  + w(3))  + .25  * (y  + y(1)  + y(2)  + y(3))

w  = .25  * (x  + x(-1)  + x(-2)  + x(-3))

r  = i - pi

pi  = p(1)  - p

i = (1  / b(4))  * p  - (b(5)  / b(4))  * y  - m / b(4)

xf = .25  * (wf + wf(1)  + wf(2)  + wf(3))  + .25  * (yf + yf(1)  + yf(2)  + yf(3))

wf = .25  * (xf + xf(-1)  + xf(-2)  + xf(-3))

yf =  - bf(1)  * rf - bf(2)  * (e  + pf - p)  + bf(3)  * y

rf = if  - pif

pif = pf(1)  - pf

if  = (1  / bf(4))  * pf - (bf(5) / bf(4))  * yf - mf / b(4)

p  = (e  + pf)  * (1  - b(6))  + w  * b(6)

pf = (p  - e)  * (1  - bf(6))  + bf(6)  * wf

Code for two-country model

Red = coefficient
Blue = exogenous variable
Black = endogenous variable

b(1) = bf(1) =1.2
b(2) = bf(2) = 0.1
b(3) = bf(3) = 0.1
b(4) = bf(4) = 4.0
b(5) = bf(5) = 1.0
b(6) = bf(6) = 0.8



if=i and e = 0

y  =  - b(1)  * r  + b(2)  * (e  + pf - p)  + b(3)  * yf

x  = .25  * (w  + w(1)  + w(2)  + w(3))  + .25  * (y  + y(1)  + y(2)  + y(3))

w  = .25  * (x  + x(-1)  + x(-2)  + x(-3))

r  = i - pi

pi  = p(1)  - p

i = (1  / b(4))  * p  - (b(5)  / b(4))  * y  - m / b(4)

xf = .25  * (wf + wf(1)  + wf(2)  + wf(3))  + .25  * (yf + yf(1)  + yf(2)  + yf(3))

wf = .25  * (xf + xf(-1)  + xf(-2)  + xf(-3))

yf =  - bf(1)  * rf - bf(2)  * (e  + pf - p)  + bf(3)  * y

rf = if  - pif

pif = pf(1)  - pf

mf  = pf + bf(5)  * yf - bf(4) * if

p  = (e  + pf)  * (1  - b(6))  + w  * b(6)

pf = (p  - e)  * (1  - bf(6))  + bf(6)  * wf

Code for two-country model (fixed exch. rate)

Red = coefficient
Blue = exogenous variable
Black = endogenous variable

b(1) = bf(1) =1.2
b(2) = bf(2) = 0.1
b(3) = bf(3) = 0.1
b(4) = bf(4) = 4.0
b(5) = bf(5) = 1.0
b(6) = bf(6) = 0.8



Impact (%) of a 1 % permanent unanticipated increase in money (flex exchange rate)
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Impact of a change in m on mf with fixed exchange rates:
Symmetrical case 



Impact (%) of a 1% permanent unanticipated increase in money (fixed exchange rate)
With slightly slower price adjustment abroad (.15 versus .25)
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Now consider a form of policy coordination 
in terms of monetary policy rules

Stick these into the two country flexible exchange rate 
model and get the steady state distribution, or just simulate
stochastically by drawing shocks
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International policy coordination: little need             

Usual
policy 
tradeoffBut little 

impact abroad
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But central banks seem to react to each other:
Exchange market intervention or

changing interest rates as in this example.



Housing Investment versus deviations 
from policy rule in Europe during 2001-6

(OECD study)



From 1/10 MPRMore evidence that central banks follow each other



Policy Implications

Why were interest rates so low in 2003-05?
– Fed’s decision or global saving glut?
– Low rates in US        currency intervention = buy U.S. 

assets like mortgages       driving rates down

• Spread of monetary policy mistakes
– “Brazilian President Dilma Rousseff complained about 

U.S. monetary policy in a White House meeting with 
President Barack Obama” Reuters, April 9, 2012

– Recent Japan easing 




